The Chernobyl Disaster
In 1986, a Russian nuclear power plant exploded sending large amounts of radioactive material into the atmosphere which affected most of Europe.  Click on the link below and answer the questions on the sheet.
http://news.bbc.co.uk/1/shared/spl/hi/guides/456900/456957/html/nn1page1.stm
Introduction

1) When did the disaster happen? _________________
2) How many reactors were there at Chernobyl? ______
3) How many of the reactors exploded? _____________
The accident

Put the diagrams below in the correct order by writing numbers 1-4 next to them.
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Environment

1) Compared to Hiroshima and Nagasaki, how much more radiation was released?
___________________________________________

2) Where was most of the fallout deposited?
_____________________________________________

3) Why is contamination with strontium and caesium most concerning?
___________________________________________________________________________________________________________________________________________________

4) Which countries in Europe were badly affected?
__________________________________________________________________________________________________
5)  Using 7 different colours, shade the map below to show the increased radiation dosage across Europe.  Don’t forget to include a key.
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Health

Label the diagram below to show how radiation can enter the body
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2) What is the main type of cancer caused by the disaster?
_________________________________________________

3) How many extra cancer deaths do the UN Chernobyl forum expect?
_________________________________________________
4) How many extra cancer deaths do Greenpeace expect?
_________________________________________________
Present Day

1)  What is wrong with the “sarcophagus” built over the reactor?
_________________________________________________________________________________________________________________________________________________________

2)  What could happen if it collapses?
_________________________________________________________________________________________________________________________________________________________
3)  How long will the new shelter last and how much will it cost?
______________________________________________________________________________________________________
4)What has happened to the wildlife in the area?
_________________________________________________________________________________________________________________________________________________________
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